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WEEK 6 REVIEW: SETS and MULTIPLIC PRINCIPLE
Shaf \ € {\
Example S‘wy\ A

Let U ={x ﬁ 1s a postive mteger less than 8}, 4= {1.2.3.4},
B=1{3,4,5},and C={5,6,7}

a. Write U in roster notation [ = ‘Z'|a\3)q)61 G)q}
b Af:Mxe U and %# A%-: {s,m}

d AUB= {;x\%ep‘ wr)ae@ {l ™ ,‘&‘5} W

e. Listall the subse ofC 7\(6.\—- ) 2=
%501} |6, 56, 265,178, T, {sn'} {'J)

sob wth m lemands 1, ;n,
'«“-A"a'ub&'(?d_& m‘*‘;‘%g’ |

Detenmne 1f tl tatements below a1e true or false

,@521“ 4 aud C are dlS_]Ollltdet ? %4%‘&

Qe 24 CA m'\\Ne

h. {5,6,::@: WW’C ‘é ‘
0 <
15607 C TRE |
Qo 1k < TRe
ffc ¢ TRUE
¢ CC TRUE
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Examp!@: g

Use Vefin diagrams to h\l?tate
a. ACUBCU,AC(B)

b AcU aci i ccdnsg
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Example
Shade the indicated regions on the Venn diagram
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Same
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Example @

Let U be the set of all statf at Texas A&M University and let
A = {x|x owns an automobile}
H = {x|x owns a house}
P = {x|x owns a piano}

Describe the following sets in words

L LA o TR shat dego wot
The ol [
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EEMM—r
(A)=100) n(ANB) :‘ audn(A UB) —' what 1s72(B)?

g9 | €
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Example

Givenn(U)=100. n(4) 40, H(B)=V LCO)=35.m(ANB) = XK.
II(AHC)=¢H(BHC)=¢. andn(ANBNCY) ,

&@Ar |"|BJ"1(2. Jo- 1o - 15_7

_-27-10-15~9

—35-1-15-9

| IOO'_°64' 10-%-7- 154
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Example

In a survey of 120 adults. 55 said they had an egg for breakfast that
morning. 40 said they had juice for breakfast. and 70 said they had an
egg or juice for breakfast. How many had an egg but no juice for

bl'e%’ast‘? How many had neither an egg nor juice for breakfast?

PO q(T)R40=Yr2
50 | n (€)= 52 = Yty

y\('y_)-z 120 < 9"[\64'2‘('“)
n(evT)="To=Yyrz
1 Wi =55+ 30-NENT)

vU X Q\JE "r}(E/ld’)-‘::\;g'?O
| _oqras 2= () F4t2) - 4
nEVT)= 1Y ?(g

£n () 0 [ENT)

BOLOLY

A(AB) = () & MB)-n(ANG)
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Example
Detemmle how many pizzas were sold if
as had mushrooms. pepperoni. and sausage
7-3=4 @ p;zzas. had pepperoni and sausage
as had mushrooms and sausage but not pepperoni
plZZﬁS had two or more of these toppings

@ 11 p1zzas had hrooms
©)» 1zzas ha eppemm
as ]1 1sag ppeloui

p zas did not have sausage

= Mm Shor

P St [0 0 émz«}}#ﬂ

S
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Example

Six hundred people were surveyed and it was found that during the past
year. 330 did not travel by bus. 100 traveled by plane but not by train,
150 traveled by train but not by plane. 120 traveled by bus but not by
train or plane. 100 traveled by both bus and plane. 40 traveled by all
three. and 220 traveled by plane. How many did not travel by any of
these three modes of transportation?

n )= o0

n(ec)= 3%0
(PNTE) = 100~ He

n(Tnee —wo

n(& N\ (TupY)= 1nov®
n(enP) =1 @
&mM?%/®

o | N(P)= 480 ©
00 a.%-&-‘%%—o\ +)k+ Rrgrh

230 = M‘%)H&H\

|90 = o.+o‘~

— () ]dLd
it Sl L
ard = 150
] 00 [se) a.‘.:\DD
[010 50 d:@D
ool {yplh=10
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Example
At a pasta diner there is a choice of 4 different pastas and 3 different

sauces. How many dinners c? be nladeb%‘hsﬂf\
%& I ¥
£ 2

f’ ﬁ: P O3
b <s :

S= {P\g\) P\sa')p\s‘&)‘ o PAgS}
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Example
How many different 4-digit access codes can be made if
a. there are no restrictions? %
b. there are no repeats? 0\ MBI G b, 68T

¢. the first digit cannot be a 0 or a 1 and no repeats are allowed?

d. four of the same digit 1s not allowed?
j o 10 . 10 .)o..
Top W
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A minivan can hold 7 passengers. An adult must sit in one of the two
front seats and anyone can sit in the rear 5 seats. A group of 4 adults

and 3 children are to be seated in the van. How many different seating
arrangements are possible?

3 FTEee @

- 1o my = PRB—> ¥ ]

% 2
No rgsicichns 12211" 10 L1 R RO S

Example = qu) OO() (aOO

You have a class of 12 children. 6 boys and 6 girls. How many ways
can the children be seated in a row

a. if boys and girls must alternate?
b. ifa girl must be seated at each end?

Wb 55 iy g na bl L

‘Rhebes RRG44G
%f%&%ﬂﬁ y Aobp

10/10/10

e

)
@Q;_L.ﬂ.q 1k ¢ ._lj__-%'_?.‘__..j_—é'

G

Example

You take a multiple choice test with 3 questions and each question has
3 possible answers. How many ways can the test be answered?

5 .5 « 5 =5

—

— M\ A ) 2
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Matthew and Jennifer go to the movies with four of their friends. How
many ways can these six children be seated if

a. there are no restrictions?

b. Matthew and Jennifer are seated next to each other?

¢. Matthew and Jennifer are not next to each other?2
B br5ed- 58]

‘05i9’9‘ « 2 =340

q@}w&? s

©) Na0- a40>= 484D

Example
Four couples are going to the movie I{}Qethf.‘l How many ways can
these ei c

(c) 2010 Janice L. Epstein 16



Math 141 Review

(c) 2010 Janice L. Epstein

10/10/10

17



	Page 1: Oct 10-12:02 PM
	Page 2: Oct 10-12:10 PM
	Page 3: Oct 10-12:10 PM
	Page 4: Oct 10-12:10 PM
	Page 5: Oct 10-12:11 PM
	Page 6: Oct 10-12:12 PM
	Page 7: Oct 10-12:13 PM
	Page 8: Oct 10-12:13 PM
	Page 9: Oct 10-12:13 PM
	Page 10: Oct 10-12:13 PM
	Page 11: Oct 10-12:14 PM
	Page 12: Oct 10-12:14 PM
	Page 13: Oct 10-12:14 PM
	Page 14: Oct 10-12:15 PM
	Page 15: Oct 10-12:15 PM
	Page 16: Oct 10-12:16 PM
	Page 17: Oct 10-12:24 PM

